SM7HE 1A 1 HBE (oAl HRA+HSEA)

KM 4 TR [ |5 (A) | i (& (B) | 8 | EF(A+B) | 3R
T 2,538 4 2,823 6 2, 880 0 5,703 6

T —TH 1,083 4 988 4 844 1 1,832 5
PR — T H 625 7 576 1 570 2 1, 146 3
e =T H 669 3 709 1 661 2 1, 370 3
JHTHTY T H 492 -2 510 -9 532 0 1,042 -9
4R T H 348 0 366 0 332 0 698 0
JHPTHT ST H 311 0 374 0 389 2 763 2
Lo HT 212 -3 203 -1 214 -2 417 -3

=a 382 1 443 0 453 1 896 1

T H 1,957 0 2, 009 -3 2,078 -1 4, 087 4
PIHTHT 349 0 340 0 329 4 669 4

Hh T H 955 -1 1,016 -5 981 -3 1,997 -8
HT—TH 287 -1 350 0 394 0 744 0
R T H 354 2 423 —4 436 -1 859 -5
HHT =T H 502 5 657 -1 637 3 1, 294 2
BT B 297 -/ 400 -3 392 -3 792 -6
A 235 1 262 1 252 1 514 2

] = 302 0 356 -1 331 0 687 -1

— K 442 -2 448 0 452 -3 900 -3

— YV AREH—TH 0 0 0 0 0 0 0 0
=YAREMTTH 32 0 43 0 43 0 86 0
GIEL 113 0 122 0 121 0 243 0

— Y KHH 5 0 5 0 5 0 10 0
KH » 5 691 -2 858 —4 858 0 1,716 —4
R4 4, 630 5 4, 829 4 5, 081 5 9,910 9

IR 4, 906 -8 4, 598 —7 4, 688 -8 9, 286 -15

E A 1, 465 7 1, 545 9 1,575 0 3, 120 9
RN 6 0 10 0 7 0 17 0
EtR—TH 944 -2 797 -2 943 -1 1, 740 -3
=LA _TH 1,148 -4 1,073 -6 1,174 -3 2, 247 -9
BH5+HR=TH 875 -1 775 ) 857 -1 1,632 -3
= LRIUTH 731 -2 709 -5 726 0 1,435 -5
BRI H 725 -2 754 -3 672 -5 1,426 -8
& LR TH 0 0 0 0 0 0 0 0
e 1, 987 -5 1,951 —7 1,841 -1 3, 792 -8

sy Fe—T1H 304 2 308 3 310 -1 618 2
iy e T H 246 0 253 0 250 1 503 1
iy =T H 442 1 433 2 451 -1 884 1
ks VU T H 783 4 689 4 814 2 1,503 6
iy T H 460 -2 499 -4 514 -1 1,013 -5
mEiT—TH 253 0 294 0 326 0 620 0
FAET — T H 597 -4 573 -5 638 -3 1,211 -8
PRI =T H 191 0 181 0 233 0 414 0
2} 33, 874 1 34, 552 -30 35, 284 -14 69, 836 —44




